
The Trusted Source

®

Quadratec®

PreRunner Light Kit
Installation Manual: for Jeep Wrangler (’07-’18) JK Vehicles

#97109.1140

READ ALL SAFETY MESSAGES AND UNDERSTAND ALL 
INSTRUCTIONS BEFORE ATTEMPTING TO INSTALL THIS
PRODUCT. ALWAYS WEAR SAFETY GLASSES DURING INSTALL.

PARTS LIST:
Prerunner Light Bracket
Prerunner Light Wiring Harness
M5 x 16mm SS Button Head Screw QTY 2
M5 SS Flat Washer QTY 2
M5 SS Split Lock Washer QTY 2
M5 Clip-On U-Nut QTY 2
Wire Ties QTY 6

REQUIRED TOOLS: 
Safety Glasses
3mm Hex/Allen Wrench Key
Phillips Head Screwdriver
Small Flat Blade Screwdriver
Diagonal Pliers (wire cutters)

Kit Contents

Q_PRE_RUN_LT_JK_97109_1140_A4.qxp_A4  2/26/19  11:26 AM  Page 1



2

The Trusted Source

®

Put on safety glasses. Open the hood of
your Jeep®. Put the prop rod into the
correct slot to hold hood open (FIG 1).

Locate the six plastic fasteners that
secure the front grille to the upper
body support (FIG 2).

Install Preparation for ’07 - ’18 JK Wrangler

Depending on your model year, pry up
or unscrew the plastic fasteners (6 total)
using a small screw driver. Early vehi-
cles may feature phillips head screws,
but most vehicles have a pry-up rivet as
shown (FIG 2). First remove the center,
then remove the body of each plastic re-
tainer (FIG 3). Set rivets & screws aside
in a safe place for re-installing the grille.

Next, Gently tilt the grille forward and
then gently pop the lower portion of
grille from its retaining clips. (FIG 4) 

Disconnect the
front turn signals
by sliding the red
locking tab back-
wards, depress the
black latch and
pull outward.
(FIG 5)

FIG1 FIG2

FIG3 FIG4

FIG5

Q_PRE_RUN_LT_JK_97109_1140_A4.qxp_A4  2/26/19  11:26 AM  Page 2



3

The Trusted Source

®

Assemble the Bracket and wiring har-
ness. Start by pulling back the wire
loom and grommet at each lamp. (FIG 6)

Slide the wiring through the cutout in
each mount. (FIG 7)

PreRunner Lights Install for ’07 - ’18 JK Wrangler

FIG6 FIG7

Push the grommet into the mount, push
the lamp into the grommet until flush
and replace wire loom. (FIG 8)  

Lay the harness along the bracket and
secure with the provided wire ties. Trim
excess wire tie as necessary. (FIG 9)

FIG8 FIG9

Note: The factory wiring harness will
be routed behind the bracket as shown.
(FIG 10)

You will need to reach under and pull
out the wiring harness to position it in
front of the bracket as shown. (FIG 11)

FIG10 FIG11

Q_PRE_RUN_LT_JK_97109_1140_A4.qxp_A4  2/26/19  11:26 AM  Page 3



4

The Trusted Source

®

Route the wiring harness through radia-
tor support, through drivers side fender
flare along side original wiring and se-
cure as needed using the provided wire
ties. Trim excess wire tie as necessary.
(FIG 14)

Disconnect the original wiring harness
from side marker and plug in the Pre-
Runner harness to the original vehicle
connector and then back to the side
marker. (FIG 15)

Reinstall the Grill and plug in turn
signals in the reverse order of the
disassembly.

ALWAYS CHECK TURN SIGNAL AND HEADLIGHTS FUNCTION
BEFORE DRIVING AFTER PRERUNNER LIGHT INSTALLATION. 

PreRunner Lights Install for ’07 - ’18 JK Wrangler

FIG14 FIG15

With factory wiring harness out of the
way, Install the Clip on U-nuts into
place on the radiator support. (FIG 12)

Next, Mount the light bracket to u-nuts
with the provided button head screws,
lock washers and flat washers using a
3mm Hex Key. (FIG 13)

FIG12 FIG13

Q_PRE_RUN_LT_JK_97109_1140_A4.qxp_A4  2/26/19  11:26 AM  Page 4



The Trusted Source

®

5

Illuminated for Night Driving

PreRunner Lights Installed

Q_PRE_RUN_LT_JK_97109_1140_A4.qxp_A4  2/26/19  11:26 AM  Page 5



The Trusted Source

®

6

Quadratec® Exclusive
Three Year Limited Warranty

Your Quadratec® branded accessories are
covered by the following Limited Warranty
provided exclusively by Quadratec, Inc., 1028
Saunders Lane, West Chester PA 19380.

This Limited Warranty is the only warranty
made in connection with your purchase.
Quadratec neither assumes nor authorizes any
vendor, retailer or other person or entity to as-
sume for it any other obligation or liability in
connection with this product or Limited War-
ranty. This Limited Warranty does not apply
and is not cumulative to any accessory or part
distributed by Quadratec for which the Manu-
facturer provides a separate written warranty. 

What is Covered: Subject to the terms, exclu-
sions and limitations herein and with respect
only to Quadratec branded accessories first sold
in the United States, Quadratec warrants to the
initial retail purchaser only that your
Quadratec accessory shall be free of defects in
material and workmanship: for a period of
three (3) years from date of retail purchase.

This Limited Warranty is not assignable and
shall terminate upon sale of the vehicle upon
which the Quadratec accessory is installed or
other transfer third persons.

All other warranties are hereby disclaimed, ex-
cept to the extent prohibited by applicable law
in which case any implied warranty of mer-
chantability or fitness for a particular purpose
on this product is limited to 3 year from date of
initial retail sale. Quadratec reserves the rights
to: (a.) require invoice or other proof your ac-
cessory is within the terms of this Limited
Warranty as a condition of warranty service
and, (b.) make future revisions to this product
and Limited Warranty without prior notice or
obligation to upgrade your product.

What is Not Covered:
Your Quadratec Limited Warranty does not
cover products or parts Quadratec determines
to have been damaged by or subjected to:

(a.) installation damage, alteration, modifica-
tion, combination with other parts, failure to
maintain or improper repair or service, (b.) nor-
mal wear & tear, cosmetic damage or damage
from moisture or water immersion, (c.) Acts of
God, accidents, misuse, negligence, inadequate
mounting or impact with vehicle(s), obstacles
or other aspects of the environment, (d.) theft,
vandalism or other intentional damage.

Remedy Limited to Repair/Replacement:
The exclusive remedy provided hereunder shall,
upon Quadratec inspection and at     Quadratec’s
option, be either repair or replacement of prod-
uct or parts (new or refurbished) covered under
this Limited Warranty. Customers requesting
warranty consideration should first contact
Quadratec to obtain a RGA number
(610-701-3336). All labor, removal, shipping
and installation costs are customer’s 
responsibility.

Other Limitations - Exclusion of Damages -
Your Rights Under State Law:
In consideration of the purchase price paid, nei-
ther Quadratec nor any independent Quadratec 
distributor/licensee are responsible for any time
loss, rental costs, or for any incidental, conse-
quential, punitive or other damages you may
have or incur in connection with any part or
product purchased. Your exclusive remedy
hereunder for covered parts is repair/replace-
ment as described above.

This Limited Warranty gives you specific rights.
You may also have other rights that vary from
state to state. For example, some states do not
allow limitations of how long an implied war-
ranty lasts and /or do not allow the exclusion
or limitation of incidental or consequential
damages, so the limitations and exclusions
herein may not apply to you.

©Quadratec, Inc. 2019. All Rights Reserved.
2.26.19 A4 Version 

Part #12999.3127

Q_PRE_RUN_LT_JK_97109_1140_A4.qxp_A4  2/26/19  11:26 AM  Page 6


